Progress Tracker 1 (Term)
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1. (a) x<M (e) 7
5-11x —3x-1
2. (a) (4x=1)(2 - 5%) (b) (3x+4)(x-3)
3. (a) 2(1-5x)(1+5%) (b) 5(2a-3b)(x+3y)
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6. (a) x=—* (b) 10
z-y
7. la) 85-4n (b) 21
3000
8. (a) $3.50 (b) x=27 (d) $15000
9. (a) m=—1-;-
10. 4or-4
11. (a) gradient=-4, y-intercept=4 (b} -3,1,5
(d) (i) x=0.5y=2 (i) 0.75 units?
Chapter 5  Quadratic Functions, Graphs and Equations
Practice 5.1
1. (a) 10,4,0,-2,-2,0,4,10
(e) (i) x=0.5 (ii) -2 (iii) -1and 2
2. (a) -10,-4,0,2,2,0,-4,-10
(¢) (i) x=25 [(ii) (2.5,2.25) (i11) (1,0),(4,0)
3. (a) a=-55,b=-5
(¢) (i) y=-4.4 (ii) x=1.60r-3.6{(iii) (-1,-5.5)
4, (a) a=-4,b=8
(¢) (i) y=825 (ii) x=1or4 (111) (2.5,8.25)
(d) x=2.5
5. (a) a=2.5
(e) (i) 16cm (ii) 3s (i) 5.4sand 0.6 s
6. (a) p=75,q=30(c) (i) 55m (ii) 595
(d) 4s
Practice 5.2
1. (a) x=-2 (b) x=4
(¢] x=3o0r—4 (d) x=20r1§
(e) x=00r-2.5 (f) x=3o0r3.5
2. (a) x=-3or—4 (b) x=70r-2
(c) x=20r8 (d) x=-2o0r10
(e) x=40r0.75 () x=13or
3. (a) x=3 (b) x=-25
(c) x=50r-5 (d) x=1%or—l%
4. (a) x:%or—s (b) x=90r-2.5
(c) x=-150r0 (d) x=1.25
5. (a) x=450r-1.5 (b) x=-1or=2
(c) x=2.60r-1 (d) x=1or-9
(e} x=-0.80r-5 (f) x=2o0r-20r0
6. (a) k=1 (b) -2.5
7. la) p=-T,q="1 (b) x=0.50r3
8. (a) x=0.8,-2 (b) y=0or28
9. (a) k=5 (b) 535
10. (a) a=-15,b=4,c=-12 (b) x=125
11. (a) c=0 (b) b=8 (c) (4,16)
12. (a) x=2 (b) () x=-15 (ii) x=1
13, 2
14. 13,8,7,-7,-8,-13
Practice 5.3
1. x=14or-16
2. (a) ZLE (b) CD=10cm
3. 5
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